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DDiirreeccttiioonnss:: Read the passage. Then answer the questions below. 

 
 
Passage 
 
 
John is at the park.  
 
He sees dogs.  
 
He sees birds. 
 
He sees ducks. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
Questions 
 
 
1) Where is John? 
 

A. at the lake 
B. at the park 
C. at the store 

 
2) What does John see? 
 

A. people 
B. friends 
C. animals 

 
3) Which animal does John see? 
 

A. pigs 
B. tigers 
C. birds 

 
4) John not see 
 

A. dogs 
B. cats  
C. birds  

 
5) John probably also sees 
 

A. squirrels 
B. machines 
C. computers  
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Answers and Explanations 
 
 
1) B 
The passage says, “John is at the park.” Choice (B) is correct. 
 
2) C 
The passage says that Johns sees dogs, birds, and ducks. These are animals. 
John sees animals. Choice (C) is correct.  
 
3) C 
The passage says, “He sees birds.” Choice (C) is correct. 
 
4) B 
The passage says, “He sees dogs.” The passage also says, “He sees birds.” The 
passage does not talk about cats. Choice (B) is correct. 
 
5) A 
The passage says, "He sees dogs. He sees birds. He sees ducks." These are all 
kinds of animals. Using this information, we can understand that John sees 
animals at the park. Machines are not a kind of animal. Computers are not a kind 
of animal. Squirrels are a kind of animal. Therefore, John probably also sees 
squirrels. Choice (A) is correct. 


